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Run #       3      Mon Dec  7 13:53:41 1998
HADCS3 Max=    8524.

0.0 10.0 20.0 30.0 40.0 50.0 60.0
ADCS3 Sum=  533448.0 (10**1)
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HADCS4 Max=    7408.
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ADCS4 Sum=  533512.0 (10**1)
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Run #       3      Mon Dec  7 17:19:59 1998
HADCS2 Max=   18784.

0.0 4.0 8.0 12.0 16.0 20.0 24.0 28.0 32.0 36.0 40.0
ADCS2 Sum=  532196.0 (10**1)
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HADCS1 Max=  152586.
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ADCS1 Sum=  533532.0 (10**1)
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Run #       3      Fri Dec  4 15:02:00 1998
HTDCRF Max=    2530.

0.0 2.0 4.0 6.0 8.0 10.0 12.0 14.0 16.0 18.0
TDCRF Sum=  253716.0 (10**2)
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Run #       3      Fri Dec  4 15:04:59 1998
HRFCAS2 Max=    4834.

0.0 2.0 4.0 6.0 8.0 10.0 12.0 14.0 16.0 18.0
TDCRF Sum=  385078.0 (10**2)
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Run #       3      Mon Dec  7 13:56:15 1998
HAS3CAS2 Max=    1710.

0.0 10.0 20.0 30.0 40.0 50.0 60.0
ADCS3 Sum=  408702.0 (10**1)

 0.0

 2.5

 5.0

 7.5

10.0

12.5

15.0

C
o
u
n
t
s
 
(
1
0
*
*
2
)

Á<���Dw���xRH+� �����T��0,
 �-�	$�.�� �)$��/� �%! 
Y
�!�� ��������
 (+*,
�$ $�
 � .���$���!�1 
7#�
�$	1%
�����1%!,
�# ��! ��� 2

À



Run #       3      Fri Dec  4 15:11:48 1998
HAS3CAS1CAS2 Max=     483.

0.0 10.0 20.0 30.0 40.0 50.0 60.0
ADCS3 Sum=  111877.0 (10**1)
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HAS4CAS1CAS2 Max=     503.
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ADCS4 Sum=  111912.0 (10**1)
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Run #       3      Fri Dec  4 15:18:25 1998
HAS3CAS4 Max=    2884.

0.0 10.0 20.0 30.0 40.0 50.0 60.0
ADCS3 Sum=   51996.0 (10**1)
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Run #       3      Mon Jan 18 15:59:00 1999
HTDCS3 Max=    8936.

0.0 2.0 4.0 6.0 8.0 10.0 12.0 14.0 16.0 18.0
TDCS3 Sum=  428668.0 (10**2)
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